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34. A vehicle’s brake efficiency is affected by  

       

Both Vehicle weight and braking effort  

 

94. Which of the following statement is correct for Opposed piston diesel engine?  

 

Combustion chamber is located between the pistons 

 

96. The firing order in an inline six-cylinder engine is  

 

 All of the given options  

 

131. The ignition component that is used to steps up voltage is ---------  

  

 DELETED 

 

138. The instrument which uses pulses from the ignition primary circuit is a:  

 

Tachometer 


